Uwpuhdw| htwpwynp phdp

dwdwiwyh vwhdwtwhwynd® 2 Juyplywi
<hannnipjwt uwhdwuwthwynd* 256 MB
Ushnp' 100 Yhwynp

Cwpwnpwbp

Pnpphy Edhihtu hp duuyw opp hp dwebdwnhlwih nunigsh Ynndhg npwbiu Uytip unwgh tp N+1
Gpywpniejwu phy: Pwg pwth np Euhiht 2wwn wunwnhp b, bw dbYy opnwd Ynpgnbig hp* uytin
unwgwd phyp: Edhiht nwunwfuwuppb) Ep pp pyp Ywdwjwlwu 2 hwonpnwlwu pywupwuubpp b
hhond £ N Gplwpnuyejwt’ -1 bphg, e ubiphg L 1 bphg Yuwqddwd hwonpnwywunieyniu, npuinbn’

1. A[i] = -1, Gpp i pn pYwlowup wybh thnpp b, pwt i+1 -pnp,
2. A[i] = o, tipp i pn pYwuowup hwjwuwp £ i+1 -pn pwtowuhu,
3. A[i] = 1, Gpp i pn pYwurwup wybh UGS E, pwu i+1 -pnp:

(Wuwnbin pdwupwuubpp hwdwpwlwws Gu dwfuphg we' 1 hg N+1 pybpny, b 1 < i < N)

<hdw, pwuh np Edhiht Juwnwh sk hp hhannnigjwt ypw, bw gwulywund k, np nnip gunubip huwpwynp
wdbuwdbs phyp, npp pwywpwpnud b wju ywjdwuubpht, fwd wnbnGlwgub|, np gnnip)ntu sniup
wynuwhuh ehy:
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Unwnpnid mpdwd £ N phyp bW N Gplupnigjwi pywiht hwonpnwlwunteiniu, npp wmwpptiphg
jnipwipwginipp Ywid 1k, Ywd e, Yuid -1

Gipwyht qjuntip
Glpnw whwp £ wpunwét) wdbuwdté huwpwynp phyp, Ywd -1, Gt wjinwhuhtu shuw:
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* Gupwfuunhp 0 (0 dhwynp) Ophuwlubipp,

¢ Gupwfuunhp 1 (20 vhwynp) 1 < N < 6,

¢ Gupwfuunhp 2 (20 dhwynp) 1 < N < 1000,
¢ Gupwfuunhp 3 (30 dhwynp) 1 < N < 10°,
* Gupwfuunhp 4 (30 dhwynp) 1 < N < 10°:



